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14. A building has 10 floors above the basement. If 12 people get into an elevator at the
basement, and each chooses a floor at random to get out, independently of the others,

at how many floors do you expect the elevator to make a stop to let out one or more
of these 12 people?
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6. A drawer contains s black socks and s white socks, where s is a positive integer. I pull two socks
out at random without replacement and call that my first pair. Then I pull two socks out at random
without replacement from the remaining socks in the drawer, and call that my second pair. I proceed

in this way till I have s pairs and the drawer is empty. w B
Let D be the number of pairs in which the two socks are of different colors s 5 s
a) Find E(D). =T “w -
b) Find Var(D). D=Th+» 8T, /‘ 2 =25 751 (7_5)
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Let X, X2,... be independent and identically distributed, and for each n > 1 let S,, = X1+ Xo+-- -+ Xn.

Suppose E(S100) = x and SD(Sj00) = y. Let W = Sggp — 40. Fill in the blanks with formulas in terms of
z and y.
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